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m3 m3 & m3 m3 m2
Ds—Pu + 0.40 + 0.70 (F) 7.92 2.67 5 0.62 T-25
Ds—Pul (S2) - 1.00 - 1.00 (F) 24.02 9.01 5 1.80
Ds—Hf + 0.60 « 0.70 (F) 10.56 3.94 5 0.93
~ Ds—HF - 0.60 - 0.80 (F) 11.88 4.35 5 0.94
o Ds-—HF - 0.60 - 0.90 (F) 12.96 4.55 5 0.96
P-Bx - 0.30 - 0. 30 (F) 6.16 1.81 5 1.05 0.10 2.00
P-Bx - 0.70 - 0.50 (F) 14.42 3.99 5 1.74 0.23 2.00
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_ A HEREL 1=2000 RC-40 D1-1 D "=
m3 m3 @ m3 m3 m2
Ds—Pu - 0.40 - 0. 70 (F) 7.92 2.67 5 0.62 7-25
= Ds—Pul (52) - 1.00 - 1.00(F) 24. 20 9.01 5 1.20
Ds-Hf = 0.60 - 0. 70 (F) 10. 56 3.94 5 0.93
Ds—HF - 0. 60 - 0.80 (F) 11.88 4.35 5 0.94
Ds—HF « 0.60 + 0.90 (F) 12.96 4.55 5 0.96
P-Bx - 0.30 - 0.30 (F) 6.16 1.81 5 1.05 0.70 2.00
P-Bx - 0.70 - 0.50 (F) 14.42 3.99 5 1.74 1.16 2.00
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